PROVISIONAL ANSWER KEY

Question 115/2024/0L

Paper Code:

Category 544/2023

Code:

Exam: Excise Inspector (Trainee)

Date of Test 18-10-2024
Department Excise
Language: Malayalam

Questionl:-Which of the following statement/statements about the Punnapra-
Vayalar Agitation is/are correct?
i. It was a violent confrontation between the British police and the Travancore
State

Congress workers.
ii. Itresulted in the establishment of the first Communist government in India.
iii. Against to turn Travancore into an independent state with American model.
iv. It was supported by the Indian National Congress as a part of the Quit India
Movement.

alM@-QI@eldd «vm(as)mcesao'l_gdgg @IOLOQYM (JTRIQAUMBEI®B @6 vo@|?

i @JIgledt’ Gatoallmye @l@al®moegd IRg EITMBUWTY @GO ®ale)ss
(BHHUNOQ nggggq;gelocoﬂ@m @O

ii. olMe0 aneimIV] sprmyLlee! @RGEC SER\ETITY waBERd
mundallmaoi]

iii. o@almocgdlom @peadlenad 10QHWIRISS BT TLIMED MVMVLAIMAIES
mogm«»ﬁ@m«sﬂ@@ @RI@M D MVA.

V.  ®ig ey maeoslBen @Wnoe SamB MIHIM@3 EBMWTY edilem

oJ’]@GTT)_f%.

A:-Only i and iii
i, iii 20@o

B:-Only iii and iv
iii, IV @0@o

C:-Only iii
il 20@eo

D:-Only i and ii
i, il 20@o

Correct Answer:- Option-C
Question2:-Which of the following statement is/are correct about the Kallumala
agitation in Kerala?
i. The Kallumala agitation was for the right to wear any ornaments like others.

ii. It was held at Perinad in Kollam district.
iii. The agitation was led by the dheevara community.

CHEBSODIBRI S5ja0e MLREEOOERC] 5] @IOY AlOQMAWIG o@G®e A Vo@lwoem?
i SGIN08I MG AQSBAIOEA IO RO @RYEEEMEBRSEe WAlEHIMOSS



@RQUBHIPOIM CQIMRElIQIRImMD.
i, eegk elojleal 6aIBlmosS BB .
iii.  Wae myrIEBm@eo em@molenalame Muado.
A:-i, ii and iii
i, ii, iii
B:-Only i and ii
i, il 20@o
C:-Only i and iii
i, il @0@o
D:-Only ii and iii
i, il 20@o
Correct Answer:- Option-B

Question3:-Which of the following pair is NOT correctly matched?
@96 0QM 62BIWIBSE® @I EIWIV] HADBOME LSOO ¢

A:-A. Indian Opinion 1. Mahatma Gandhi
A. oy sallo@ 1. aanoomomomul

B:-B. Kesari 2. Balagangadhara Tilak
B. coaud 2. MI0RINMILE Tlalds

C:-C. Jai Hind 3. Subhash Chandra Bose
C. 2@ odla3 3. Qe almeenomy

D:-D. Chittagong Armoury Raid 4. Bhagat Singh
D. 2lgeno.wy @pdad eowiouy 4. ey adluy

Correct Answer:- Option-D
Question4:-Match the following personalities of 1857 revolt:

A. General Hugh Rose 1. Recapture of Delhi

B. John Nicholson 2. Commander in Chief of Central India
C. Khan Bahadur Khan 3. Rai Bareli

D. Maulavi Ahmadulla 4. Awadh

1857 eei algjaionildec moeeao@m aemilmIEBRud ealdGBomen|STDe:

A. @mosd a0yUY 60O 1. aw@dad olelgjalslencs
B. cemoem dlemwmodarued 2.  awy Damy@es H2003w@ oM aflad
C.  6uom 6na0ogd euomd 3. 00w enueoeld
D. oamenl eraomgss 4. @ow
A:-1,2,3,4
1,2,3,4
B:-2,1, 3,4
2,1,3,4
C:-1,2,4,3
1,2,4,3
D:-2,1,4,3
2,1,4,3

Correct Answer:- Option-B
Question5:-Match the following:



A. Kandam becha Kottu 1. J.C. Daniel
B. Vigathakumaran 2. K.K. Arur
C. Balan 3. First Malayalam colour movie
D. Neelakkuyil 4. Satyan
IOPOQYMMA BIBONO SIS
A. @6 o6l S 1. o= .ol cwomlewad
B. alvos:zoead 2. 06.06. COG®HAO
C. snoeid 3. 2ewIsoolenl GrRLOm Hsd aulaia
D. olesmsoics 4. ooy
A:-1,2,3,4
1,2,3,4
B:-2,3,4,1
2,3,4,1
C-2,1,3,4
2,1,3, 4
D:-3,1,2,4
3,1,2,4

Correct Answer:- Option-D

Question6:-Assertion (A) : The Reign of Terror was a period during the French
Revolution characterized by extreme violence and mass executions.

Reason (R) : The Reign of Terror was initiated to eliminate counter-revolutionaries
and protect the newly established Republic.

@RAIBHIAR. (A) @ gel allgjaisoeiom Ee:on0yg GQIA0W @RERAN
&SOERIDHBo MO0 BT &H0LINaISA0ITM.

#&o6emoe (R) @d@lallgjaisidlees omeaime @a@m@'loao PYOlOhIW]
mundall®ao@ dlajepfleslom mue.esasilesmalleadsy
EleEMI0E @R)@oEl @,

A:-Both (A) and (R) are true, and (R) is the correct explanation of (A)
(A) 20 (R) 90 ve@losmy, soe® (R), (A) es wdlwow allwede:esmasmy

B:-Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(A) 20 (R) 20 0@l@osm), agamocd (R), (A) ges wdlwow alwdle:esmagy

C:-(A) is true, but (R) is false

(A) wdlwoey, agmomd (R) emgoery

D:-(A) is false, but (R) is true
(A) emgosm, agomomd (R) wodlwosm’

Correct Answer:- Option-A

Question7:-Match the following dance forms with their unique features:

A. Kathakali 1. Enchanting dance with gentle, flowing movements
B. Theyyam 2. Martial art form known for its agility and combat
techniques

C. Mohiniyattam 3. Ritualistic dance form Invoking deities

D. Kalaripayattu 4. Classical dance-drama with elaborate makeup and
costumes

@362 ]OQN DHOM(T3l6BRHESE @PAIQIOS MBIV (TUO.ﬂ(SUOnSd((S)cﬁ)ng@'] 6)ald@O06)]3TD .



A. susd 1. qvoaie Bg8MODRIL 2eINERSES EYEEUHRW

DO
B. eog. 2. 2I5eImQo 6aldI5 OODEBRUIER. GalMBEHS GREIUWM
&RIGBalo
C. coonddwoge 3. @0)aldEale2d® OOm@Gal CEAMGes Qlslasmo
D. esdywg 4. allojemow G2 EQIaHOlWIMERSASs GOMIlen©3
QO MISdo
A-4,2,1,3
4,2,1,3
B:-1, 3,4, 2
1,3,4,2
C:4,1,3,2
4,1, 3,2
D:-4, 3,1, 2
4,3,1,2

Correct Answer:- Option-D

Question8:-Which of the following statements is/are incorrect regarding the
Olympics?

i. The Olympic Flame is lit in the host city and then carried to the opening
ceremony of the Games.

ii. Jesse Owens won four gold medals at the 1936 Berlin Olympics, which took
place during World War II.

iii. The first modern Olympic Games were held in Paris, France in 1896.

a@?a)ﬂg%m:mﬂ NITWES ®IOL]OQIMM JTRIAIMBSIG R ODG?

i.  ednile moel ERGICIW MUEOTIT HOTEBHQ @SR BN mJlMe0
OERI0SM aISEEEIERIES) OBHINEEAIB:EBH Qo 6.21QMD.

i, ©@6MRoe erNGRnIQrRLMAOD Msan 1936-ee! emidelnd eglniglod e=md
£0QITdMY MIAl IR eAWA)E:U8 Gms].

iii. erewom erUMe agdmise eval.my 1896-ad «grmdmieal andamilad msme.

A:-i, i, i
i, ii, iii

B:-i, ii
i, ii

C:-Only iii
il @0@o

Correct Answer:- Option-A

Question9:-Match the following:
A. Kerala Panineeyam 1. Political Novel

B. Parappuram 2. Malayalam Grammar
C. Anjadikal 3. Detective Novel
D. Bhaskaramenon 4. Bala Sahityam

@IOLOQYMNA O ldBOMESTD .
A.  ewesasmimiw. 1. ol emoaicd



B.  aw00q/00 2. 0208 QIPHEEM.
@1612S]> 3 3. adlgglal’ emoaied
BITY@EAEMITS 4.  enoeImIaClmyo

A:-1,2,3,4

© O

Correct Answer:- Option-B

Question10:-Which of the following was a major theme of the United Nations
General Assembly's 78th session in 20237
2023-621 6ag@)090Y aN@MRYeS /8-:000 &IVEHMEO @JWIM @ ®I6LaOQMAIITE ag@moe?

A:-Nuclear disarmament
@Ml MIPIQUIE:E6Mo

B:-Rebuilding trust and reigniting global solidarity
QllkeaVe ayMBMIAAEBEHQo ERYENIB Baf)diBOBUNe afMTVNIERHQ0 6.21Q)d

C:-The refugee crisis in Europe
Qeooafleal @pewdmdl almuawl

D:-Space exploration
NIaOI@IBHIUD Al CQUMH6IMo

Correct Answer:- Option-B

Question11l:-The concept of the 'Great Divide' in Indian geography is often used to
demarcate regions with distinct climatic, hydrological and ecological
characteristics. Which of the following factors, apart from the Vindhyan Range, has
significantly influenced the formation and evolution of this divide?

snamym@ Gallweomyoieal 'arile allemme’ agm @RUE. alfIBajdge QAKMITY EORIOQITVN, REILBIMYo,
aloelnudl@le Qe 988 (JERUREROS CAIBMIBlEHIM Dale@IUlEeam. oD alemmOmIMBe0
@loesmamilale aldlemoacmilgle Allmwim® aldamTe BLlOHQSS @IOPLAOQMN QISE:EEBREITd OO0
$00Y0® muIUlme Balejowilalgen:?

A:-The Deccan Trap Volcanic Activity
3 OWEIM Sda] EUOUBHIMIE @Rl

B:-The Himalayan Orogeny

a0l22IM BE0IOBM)

C:-The Ancient Tethys Sea
ad@IOM OSTTIMN HSTB

D:-The Quaternary Glaciations
$10656mMAl GRAVIG@ UMDY’

Correct Answer:- Option-A

Questionl2:-The Indian monsoon is a complex system influenced by various factors.
Which of the following teleconnections, apart from the EL Nifo-Southern Oscillation
(ENSO), significantly impacts the Indian monsoon rainfall?



sy asndargemd allallw caiseergomd auwlmleneals a8 aquassldey mv.alwomaceny. EL alemo-
mvemend soadleaicsmd (ENSO) @soem, @oegqjoqm esaieemeumeglad agmoa somymd asndayerd
296©Q H0EMIW IDUWlEBMMNM®?

A:-The Arctic Oscillation
@RBSle: s30mUlealnund

B:-The North Atlantic Oscillation
QUSEHM (GTOQ'QIO(TSO']&; 630mJlealaum

C:-The Indian Ocean Dipole (I0OD)
DM 2a02MgE3 Oewealoud (I0D)

D:-All of the above

QHEIO AOTIAUOWQEIo
Correct Answer:- Option-D

Question13:-The laterite soils of Kerala exhibit distinct morphological
characteristics. Which of the following pedogenic processes, in addition to
desiccation and contraction - expansion cycles, contributes significantly to the
formation of laterite profiles?

CHESODIORI 1006607 AEMNEHU QTIGlHMAIQ @GBIPRISMIAIERIQ MVAIEUBAUMBUB @B Slajlesm.
OAUVIEER UM, TUEEIal - Qllajellé:@em al@6RUE afMINIY j0cA, MIOPAOQMM BT HalGAIRMEH
BN’ 2100660] B(JIOENE)HE6S @alle:eemMBIM’ &:0IMIW MVEOIM M@HM@?

A:-llluviation of clay minerals
HsSlnend WOIDEBOS (@JB0UdMo

B:-Lessivage of iron and aluminum oxides
@M, @ReAMIW. BIOSGUWHHUS afMIAUIQS B0l

C:-Salinization
©aleQI8so

D:-Podzolization
GalOWHRISRIGANVHTMD

Correct Answer:- Option-B

Question14:-The Western Ghats of Kerala are a biodiversity hotspot. Which of the
following geological periods is considered crucial for the evolution of the unique
flora and fauna of the region?

eHE8OMIeAl alvailacalge B HORAIOSQIAIWY GaOIFETYISIEM. D (JEBUHE™ MUANGUBAUNIW
MOAVIRIDRWOLIBREEES AlFlEMIBOTIM GIOPAJOQRMM aBD) EDAUDITY B0RIRISAVEM MlBEMIQER0W]
BHEMEDIERIN® !

A:-Cretaceous
@IGQauymy’

B:-Paleogene
alorlleomdlad

C:-Neogene
mlewodlad

D:-Quaternary
&10656mMOl

Correct Answer:- Option-B



Question15:-The onset and withdrawal of the Indian monsoon are influenced by
various factors. Which of the following atmospheric phenomena, apart from the Jet
Stream, plays a crucial role in the monsoon cycle?

EOAMYB AEMBIYETVIMBOO @RY@oRQYe @RAITLIMYe QllallW CRISEEEREIE MLIWIMIEHe |G, MEMBMYeNd
0eVHISIc 6mg Ml BFOGQYSS RO ERMG|EH @ONRITLREM WIBEMIWE Al QAlaGleBaN®?

A:-The Intertropical Convergence Zone (ITCZ)
pB0BESIen®d @emeidmmmy emvosm (ITCZ)

B:-The Tibetan Anticyclone
Slenigm @RMCIEETVLELHIEMD

C:-The Indian Ocean Low Pressure System
HAMMB RaOITVYBEOTIOL! mémmraq Al

D:-All of the above

QHEIM OO0
Correct Answer:- Option-D

Questionl6:-The Western Ghats are characterized by distinct altitudinal zones, each
with its uniques ecological characteristics. Which of the following altitudinal zones
is primarily associated with the cultivation of cardamom in Kerala?

altailacagemIBe0 @E@IB@HUE QAMITIAIQ OWEOMIASS CARIRIG:SIET), 606EITIM. @PGINMBEOMIW
a@lmudlalle: quaileroatmSEE. @69 aloQMAUIB af@Iem eHeaOTIOR! agllo &aHlQaow]
(@o100lE:200 IMWen]SIEleBam®?

A:-Lowlands
©®IY (JEBUDEBRUD

B:-Midlands

alowy’ 2oy’

C:-High ranges
OWABMM GUYEMIBUB

D:-Nilgiri plateau

leinlel aflogal
Correct Answer:- Option-B

Question17:-Which of the following tax is not subsumed with GST?
®969a]0QMAQIG agmoem’ GST-Qlmd 9udegomoCm®?

A:-Excise duty
af)OeOGMY (wég"l

B:-Service Tax
BVQIMN MG

C:-Basic Customs Duty
@RSIMNIM BAYomY’ (u)égﬂ

D:-Purchase Tax
QI06BBO M@

Correct Answer:- Option-C

Question18:-A company hires regular services mostly from external sources or from
other countries is termed as:
SBT3 HMIM] MLIWIEEM GTLAIMEERUT BFMRINW] QANSHQ) AfSEBMMNM® NIV DOANSEEEIE Mmleomo ag



©9=6EREIT3 MM @RYEM. HOBIOM A0 :

A:-Outsourcing
BVZEIVIElUY

B:-Privatisation
66(JAUOOQYEITVAHD

C:-Offshoring

630a0GaHIOloUY

D:-Disinvestment
mIeHHalo cu'lg;@'hﬂs)m%

Correct Answer:- Option-A

Question19:-Which of the following is an example of Zaid crops?
®6Pa|OQMARIG ag@oem MOWIE Qllgs:Wdes ©BoanBeMo?

A:-Barley
eniodell

B:-Watermelon
@q.gnmmcra

C:-Sugarcane
&alni

D:-Turmeric
D6 UB

Correct Answer:- Option-B

Question20:-Which one of the following is not an example of ferrous metallic
minerals?
£a00m’ engoeils; dlmogiHEes DEINEMRLIOM®) MIOPOQYMAUIWIGS aR@®o6m?

A:-lron Ore
SOOIV

B:-Chromite
CBI6ODY

C:-Bauxite
csmoae)@g

D:-Manganese
@MY’

Correct Answer:- Option-C

Question21:-Which of the following is the refinancing financial institutions in India?
®969a]0QMAIRIG ag@moem’ amyeieal Fladlmomailety’ WMoY MuNdalMe?

A:-Tourism Finance Corporation of India
g0lMo adlmOMMY’ B |E0UM 30ad DD

B:-EXIM Bank
af)@lo 6nI0Ey

C:-Industrial Development Bank of India
MBIl HaaRIaIeEAMBO 6NIdE; 63dad DM

D:-National Housing Bank (NHB)



MIaHEM@ a0DMlowd enuoss (NHB)
Correct Answer:- Option-D

Question22:-'Vocal for local' initiative under Aspirational Blocks Programme is
launched by:

@RIIIE0HEM@ GERIOS MY BoWodlm HlFlass eI Gandd GRIENM' Moo @RYDE] M.

A:-MGNREG
MGNREG

B:-NITI Aayog
NITI eryewouy

C:-UNICEF
UNICEF

D:-PMKVY
PMKVY

Correct Answer:- Option-B

Question23:-Consider the following statement about Union Public Service
Commission and select the correct option given below:
i.  The Chairman and other members of the Union Public Service Commission shall
be

appointed, by the President.
ii. They shall hold office for a term of six years or 65 years of age, whichever is
earlier.
iii. They can be removed by the President on the advice of the Council of ministers
headed

by the Prime Minister.
iv. The Commission shall present the annual report to the President of India.

oMl alepfle;” rudallmy’ eedflasemMEBclyss @IPaoRAN EJIRIAUM aldlnaTEsd. ®eY
M@ DBlEBMM PEIVIW BIalHMB GIEOETHSEBD:
i QoMM alefle’ LBl @BoAlUBEO 6 21WARIEMQe AY @BLEERESBQ0
©0cdal@ Mlealeso
i, @pad @ro Al @RegEI® 65 AWM, cRMIEIMI AR EIEOME @) I3l
QlaOlERBo
iil.  @woma@es en@®ovless alaomes TVHGIYeS OaleRUBE)B0@0
@IYa @& @O MlEho ©a1Q00
V.  @oflasm andadle dleapds mym mlawmddla’ avadaflese.

i, iii, 1V 0o@eo
B:-Only i, ii and iii
i, ii, il 20@o
C:-Only i, ii and iv
i, ii, IV 20@o
D:-All the above (i, ii, iii and iv)
@ alosome®eyo (i, ii, iii, iv)

Correct Answer:- Option-C

Question24:-Which of the following is incorrect regarding the election of the
President of India?



i. Heis indirectly elected by an electoral College.

ii. The electoral college consists of the members of Parliament and Legislative
Assemblies of States.

iii. Proportional representation by means of single transferable vote is the method
used.

iv. Article 56 provides for uniformity in the scale of representation of state in the
election.

EOAMYMB @Y IOIQOS (oﬂ(oe)amg%moq»'l NITWES MIOLOQYMAUDI@ cB®I6M HDF?

i. e EDRIRHODE CHIEBE alGEIGUNIWS] TEEETINSEEISEIET.

ii. andeIEEMIeRIQ TVuNIMEREIHaI MHOAMUERHEORIR. @RUIEBRUS
DUBEAFIMDIEM EDRIHODTE CHICSL.

iii. ©6d00g. O2IQIGM 8Q S AFIYSS BRMANGIE: @oadilalwmosny
Daleouilasmm dlol.

V. @adslesiud 56 emoestmgalmd msmunomosidec odialwiemlBen emoiod
ABBIGHO® MTE:MD.

A:-Only ii and iv
i, iV 00@o
B:-Only i, ii and iii
i, ii, il 0o@eo
C:-Only i and ii
i, il 20@eo
D:-All of the above (i, ii, iii and iv)
R&El®d alosmAeOWe. (i, ii, iii, V)

Correct Answer:- Option-A

Question25:-Which of the following are correct regarding 52nd Constitutional
Amendment Act of 19857

i Itis related to anti-defection law.

ii. Inserted 10th Schedule in the Constitution.

iii. Question of defection is decided by the presiding officer of the house.

iv. An independent member is free to join a political party within six months from
the date he took his office.

1985-6e1 52-:00 @oEMARISMO 6REVIEI MlAQROW] NIMWEA]S ®IOLAOQYMAURI® n@@moe BEI?
i. e &Q@oQ MEEIWM MlAN2W| MITWEAS®IE.
iil. ceEsMraISMOIBd @m0 Oaxwyd caldg.
iii. @QaogEMlme0 eansy dlamaailesma allsldeo lleemuausluy soadlauoosny.
IV. 8@ IO GReMOEIM @REGaN. @RUWI:006ag GG gO@3 @RHO
20rVEDIPSS®8 3@ EIHW alAZIVIBE E21EIMB MLIGDIPENE.

A:-Only i, iii and iv

i, iii, IV 20@o
B:-Only i, ii and iii
i, ii, il 0o@eo
C:-Only ii, iii and iv
i, iii, IV 20@o
D:-All of the above (i, ii, iii and iv)

gog@d alosomae@eo. (i, i, iii, V)



Correct Answer:- Option-D

Question26:-Consider the following statement about Money Bill :

i. Article 110 deals with money bill.

ii. Money bill can be introduced by either house of Parliament.

iii. The speaker decides whether a bill is money bill or not.

iv. Rajya Sabha has to return the bill within 14 days with recommendations.

Which of the following statements given above is/are correct?

26 enilaflomeEscloss @09ajoQM @TRIAUM al@lnenlesd:

i. @rdgeld 110 asm snlgiao@] enimwenslelesmo

i, andeeamdlBen «go Tuego. neml midd @PAmElenoam@os.
iii. s enilad aeml enilejoeemo @i agam Milend @l@admlesmo.

IV. ®@addwsesies 14 daimvomlmdae @mymue eniad ases] M@ddemo.

&gl N@HIDGIERM @MROAUNBE® @@ BEI?
A:-Only i, ii and iv
i, ii, IV 20@o
B:-Only i, iii and iv
i, iii, IV 20@o
C:-Only iii and iv
iii, iv 2o@o
D:-All of the above (i, ii, iii and iv)
geg@d alosomae@eo. (i, i, iii, V)

Correct Answer:- Option-B

Question27:-Consider the following statement:

i. The right to issue writs for the enforcement is provided in Article 32 and 226 of
the Constitution.

ii. Under Article 32 Supreme Court can issue writs for the enforcement of
fundamental rights and for the redressal of any injury or any illegality arising out of
ordinary law.

iii. Under Article 226 High Court issues writs only for the enforcement of
fundamental rights.

iv. The right under Article 32 can be suspended only during the proclamation of
emergency laid down by the Constitution under Article 359.

Which of the statement is/are incorrect?

@IOPaOQM (@JTYIQUM al@lNEMIER S

i.  eeEeMeaIsMmYeSs @RARSIEHIWS 32, 226 aaila)@d agadeandsminamalmoi dlg
06 S0llenIMPEs @RAIGIW. MM E:IXdlesam.

ii. @AY 32 W MYaflo CISTIE aalle:00180006EBRUD
Msaflenassm@lie. MLIWIEEM MWAGIHIGS MM HEMRIGMM GOS8
al@lenHuBem0 MlalmBRLOGBUBEEI CEQSs Clgaud
ad0eajgallenoqymmaos.

iii. ERdglelud 226 @&0oo., 20elle:0nB:0uRERU8 MSaloaBaM@IM elsNEl A0@ao6T
06a08HISOI GIgH U8 of0eqgallesm@y.

iV. @odgleslud 359 @ore BREMARISM @RMUBINIIERMM @RSIMEIAUTVN (@JEULDAIM
MLOOED BOOED BRI 32 (@UGHIPYSS @OAUBIWo IR BHA0wW]



MIBO™®IM H1Q.
268l NAHIVIEIEBM TROAUMBE®M EDOQIQT aBMIEIT?

A:-Only ii and iii
i, iii 20@o

B:-Only iii and iv
iii, iV 2o@o

C:-Only i and iv
i, IV 2o@eo

D:-Only i and ii
i, il 20@o

Correct Answer:- Option-A

Question28:-Article 20 provides protection from conviction for offence in certain
aspects like the right against

i. Ex post facto laws

ii. Double jeopardy

iii. Preventive Detention

iv. Self-incrimination

@Rdslesiad 20, @rAIE:W. caloa)ss alel $:00EREIM GQOBIM WWleMlEneasan@Id mlm cmucesweMo
MN@BBHMP.

I, a@ Calomy anoegd Mlwnenrud

ii.  cwenllud efleoatodau]

iii. lamdar mseancd

V. (IQe B:Q6|SOm@D

A:-Only i and iv
i, IV oo@eo

B:-Only i, iii and iv
i, iii, IV 2o@o

C:-Only i, ii and iv
i, ii, IV 20@o

D:-All of the above (i, ii, iii and iv)
g alosomAO@e. (i, i, iii, V)

Correct Answer:- Option-C

Question29:-Which of the following are the recommendations of L.M. Singhvi
Committee?

i. Constitutional recognition of Panchayati Raj Institutions.

ii. Official participation of political parties at all levels of Panchayat elections.
iii. Establishment of Nyaya Panchayat.

iv. Establishment of Judicial tribunals in each state.

969 oM@ agg@oem’ L.M.-@e0 adlnil e:midlges wandwwsud?

. IIQOBIEIE MUNIAIMEERUBES BEEMARISMIAIEAIY @RoUIlE:0®o.

i, ooy @e66MZAMBe0 agejo @almrslale @Yl modg’l@:gas
BDEBYPUIE l8Islomo.

iii. MPW @O LN EH.

IV. 60600 (MUeMuNIMIDo g3USlau\@d OO SENIYEMNEJB D V0% llen@d.



A:-Only i, ii and iv
i, ii, IV 20@eo

B:-Only i, iii and iv

i, iii, IV 2o@o

C:-Only ii, iii and iv
i, iii, IV 20@o

D:-Only i, ii and iii
i, ii, iii @0@o

Correct Answer:- Option-B

Question30:-Which of the following committees are constituted by the Constituent
Assembly to report on the various Substantive aspects of the Constitution?

i. Union Powers Committee

ii. Drafting Committee

iii. Provincial Constitution Committee

iv. Committee on Negotiation with States

cEeMeaismes allallw myaudle alweeErEes &:lgf dleajods @mqycm@ﬂmomﬂ BEEMARISMI @RMVER
@Beledlafdlesan emidleud agamosm?

I emlem alad eld

i, @Woadlouy @aiid

iiil. @allweyp ceeMaaiIsmo audlo

iv. MUMVOIMEBRSROYSS 2l@oiQes mudlol

A:-Only i, iii and iv
i, iii, IV 2o@o
i, iii, IV 20@o
C:-Only i, ii and iii
i, i, il a0@o
D:-All of the above (i, ii, iii and iv)
B alosomAIOWL. (i, i, iii, V)

Correct Answer:- Option-D

Question31:-Which of the following statement are true about Saksham App?
i. Launched by the State Election Commission, Kerala.

ii. To make elections more accessible and inclusive.

iii. Ensuring the active participation of PWDs in the election process.

iv. Can be used only by the existing PWD voters.

VB8t @RAlOMERCe] @IOLAOQMN (JMRIAUMBEIT aG@6M @7

. DO BREED CBESODINRI MMNIM TlEeTmSa] @allaum @6y

ii. TIEOETOF U SFOM ERORMY ©.21QIYIMDo DUBOEISBMNDo
@RYEBMN @M

iii. oleesomga] GG aflaweppuleges aualal algoglome 0qIERo:

iv. olealess mﬂwm&u’l GUOSBROBED MDD DD DaleIUIENIM &P,

A:-Only i, iii and iv
i, iii, IV 20@eo



B:-Only i and iii

i, il 20@o

C:-Only ii and iii
i, iii 20@o

D:-All of the above (i, ii, iii and iv)
g alosomAB@. (i, i, il and iv)

Correct Answer:- Option-C

Question32:-Who are the permanent invitees of the Kerala State Planning Board?
i. Chairman, State Finance Commission.

ii. Chief Secretary, Government of Kerala.

iii. Additional Chief Secretary, Revenue Department, Govt. of Kerala.

iv. Additional Chief Secretary, Finance Department, Govt. of Kerala.

EHES MMLOIM @RHIY@M enIdAWIMe0 audle. euemlmosnud @ryem?
. MLELOOM WMEIBY HIRUM 621D

ii.  aflad ©VEGST), EHES TVREHIB

iii. @RAUWlaeM@ allad’ &L, OQIMY Qldsa], EBEE TVBEHID

iV. @rlausm@d aflad OTVE@SA], WM Qldha], GHOS TV

A:-Only i and iii
i, il 20@o

B:-Only ii and iv
i, IV @0@o

C:-Only ii and iii
i, iii 20@o

D:-Only i and iv
i, IV 2o@eo

Correct Answer:- Option-B

Question33:-Which of the following statement is true about the Kerala State
Disaster Management Authority?

i. Itis a statutory non autonomous body

ii. Governor is the Chairman

iii. Chief Minister is the Chief Executive Officer

iv. "Towards a safer state" is the motto

EHES CIRG WIMOqRA 20eMEEAM @REMICIFIOW MUENITW] 4] @IOLAJORM ITRIAUMBEIT aB@O6
wa@l?

. oo 8m TRAEEIEY8E MVIWEREMIWEEARIO® MAIaIM@dEN

ii.  WaeMOeM 621N

iii. g@aue@d aflad aggleysial’ eoadlmuoosm

iV. "myesdl® qu.trunomaiealss” agmmosm’ GRG0

A:-Only i and iv
i, IV 20@eo

B:-Only i and iii
i, il @0@o



C:-Only i and ii
i, Il 20@eo
D:-Only iii and iv
iii, IV @0@o
Correct Answer:- Option-A

Question34:-Which of the following categories of land were exempted from ceiling
on holdings under the Kerala Land Reforms Act 19637

i. Kayal padasekarams of Kuttanad

ii. Commercial sites

iii. Private forests

iv. Plantations of Coffee, tea, rubber, cocoa, cardamom etc.

1963-621 608 Gadlyoem Mo (@J&:0: MIOLOQYMAUDI® cgomoees GalOWoeTY
OH:NIINGUB aldlWllmd o adlanaslwa?

i &HSMISIOAI HIWDB I0SCURRIGEERUD

ii. ey OOTLOB:UD

iii.  rui®oey QIMEERUD

IV.  ®0qf, coxilal, 0mad, 6@:0e0, agllo GOLNWAYS EMISEBRUD

A:-Only i and iv
i, IV 2o@eo

B:-Only i and iii
i, iii 20@o

C:-Only i and ii
i, Il 20@eo

D:-All of the above (i, ii, iii and iv)
g alosomAIO@L0. (i, i, iii, V)

Correct Answer:- Option-D

Question35:-Consider the following statement about the Kerala State Election
Commission:

i. Constituted under Article 243K and 243ZA of the Constitution.

ii. Appointed by the Governor.

iii. Conduct elections to state legislatures.

iv. Came into existence on 3rd December 1993.

Which of the following is/are correct?

BHOS MeLNOM TEEETOFa] a:m‘loy@mces;o']_gégg @IOPOQAN TYIAUMEU al@IWET BB,
i.  eeemMeaismYes @RARSIESIm 243K 243ZA agarial @@oee @alle@l o

i, »wademad oy

iii.  mueunom dleacueegtaiesss tloasmmga] MSTDE.

iV. 1993 awlmuesnid 3-av mleiail@d cume.

QBHE DD AlOIAURTS aB@I6 (@17

A:-Only i, ii and iv
i, ii, IV 20@o



B:-Only i, ii and iii
i, 0i, il 00@eo
C:-Only i and ii
i, il 20@o
i, iii, IV 0o@eo
Correct Answer:- Option-A

Question36:-Which of the following are correct regarding E-sevanam?
i. A centralized online service portal for all government departments.
ii. Owned by Kerala State IT Mission.

iii. Its mobile version is known as m-sevanam.

iv. It is Malayalam enabled.

ED-GAVAIMo MENIMUSl5] MIOLOQMAIRIEB ag@moe a7

i af)aJ0 MABEHID (').IcBaqch:USﬁ?mO@)'] B0 CH(MBlGH® B6MeSIM GILAIM
Gald@5®d.

i, emog eayd IT daumen psamunolgsso.

iii. EROIMBE0 ©20666NM al@ila] agle-EMVAIM. afMClWeFMP.

IV. @ 2RIQISe (@QIBTIHMEUAAIET.

A:-Only i, iii and iv

i, iii, IV 2o@o
B:-Only i, ii and iii
i, ii, il 0o@eo
C:-Only ii and iii
i, il 20@o
D:-All of the above (i, ii, iii and iv)
g alosomAO@L. (i, i, iii, V)

Correct Answer:- Option-D

Question37:-Consider the following statement about Navajeevan Project:

(i) Implemented by the Labour Department of Kerala.

(ii) Provides means of livelihood to those in the 50-65 age group who have
registered in the employment exchange and could not find job.

(iii) Interest free loans to start self-employment ventures.

(iv) Individual income should not exceed 1.5 lakhs.

Which of the following statements are true?

Mgl alRLOle@ERClySS OO JTRIAUM al@lnenslEsd:

i.  emesovleal HMIFIMD Qldha] MSaflenssloy

i, agoeqloeQmad age;elmiod e=laud 6.l emoel eidenoom 50-65
@OWalRlWlWe|B880I888 almlaimaddtie M@IB:M

. o E@IFIB MIoE-EREERUD @RYEEIEBM@IM alellte EaSl® (10QB:U3

V. aenluom amaom. 1.5 aiete &alwom altoslgy

RBSITB 206D (JTRIAUMBSI B®I6M (OaI?



A:-Only i and iv

i, IV ao@eo
B:-Only i, ii and iii
i, ii, il 00@eo
C:-Only ii, iii, iv
i, iii, IV 20@o
D:-All of the above (i, ii, iii and iv)
el alosomaIO@eo. (i, i, iii, V)

Correct Answer:- Option-B

Question38:-Pacinnian Corpuscles are concerned with
aldmIlmlad 60@ajmila)eud 20 enITWealgElesmo.

A:-Touch reception
Saf Olnvaleuad

B:-Pressure reception
@)@ Olorvaicuad

C:-Temperature reception
®9almlal clamualiaumd

D:-Pain reception
GQIBM Olrvalauad

Correct Answer:- Option-B

Question39:-The inability to absorb which vitamin causes Pernicious Anemia
a@® allgodlmosm’ @ruilesme. ealImes G:¥lalgpe almows:eni® @RANwY’ B:0EMAIEM@?

A:-Vitamin C
allgoalad C

B:-Vitamin A
allgoailad A

C:-Vitamin By,
Qﬂgom’]ﬂ% By,

D:-Vitamin K
allgodlad K

Correct Answer:- Option-C

Question40:-Which among the following disease(s) is/are caused by virus?
i. Malaria

ii. Dengue

iii. Chickenpox

©®I6Pa|0QMADIE aR@IM HEOHAOMY BLIGENRIB:MND?
i. acalw
i, ewelaym
iii. allepmdeatogy
A:-Only i
i 20@o
B:-Only i and ii



i, il 20@eo
C:-All the above (i, ii and iii)

ReEl®d alosmeOWe. (i, ii, iii)
D:-Only ii and iii
i, iii 20@o

Correct Answer:- Option-D

Question41:-The Ozone layer provides protection against
630GV 08l OBIOMDIO® MVEEHUEMo MNTIL:NO

A:-Ultraviolet radiation
@RUISIIeal] alle:leeme

B:-Infrared radiation
MO Qllél@eme

C:-Gamma rays
NOMI BlEEMEBRUY

D:-Acid rain
@il a®

Correct Answer:- Option-A

Question42:-The Nobel Prize in Physiology/Medicine 2023 was awarded for the
discovery on:
2023 a1 adavlewosdl/eacislondlad @mosni@d aruanome HOTROTIRTM 2IEly).

A:-Development of effective mRNA vaccine against COVID-19
es00llaw-19 emalee anaie)eao MRNA anglad alleadla] o

B:-Ancient DNA and human evolution
aJ@o®mm DNA ©o atay al@lemoango

C:-Identification of a novel Hepatitis C virus
T3 GMINIM HaDEOQIIMY’ C a0 @@l 50lowd

D:-Cancer therapy by inhibition of negative immune regulation
emudlal €eINEITIEEIW MIWEDEMe GSQMTIEES GHIMTVA@ H@OA

Correct Answer:- Option-A

Question43:-Which of the following phenomenon is not exhibited by sound waves?
@O alOQYWMAUIRIT oB® @IBITVAEM BENY MPoLEBBRSEITS (QBHSDIBIOOD !

A:-Refraction
Ol@noBsud

B:-Polarization
@oﬂce:(asmo

C:-Diffraction
Wl@QoBead

D:-Interference
DSEaISOD

Correct Answer:- Option-B



Question44:-Mass of an object on earth is 10 kg. What will be its weight on moon?
Gololea! @3 magm’la&@o aflemwe 10 @leein @ryem. aI@mIad @RMIME0 @I@o afMI@ER0?

A:-98 N
98 N

B:-588 N
588 N

C:-less than 20 N
20 N-@d @oaql

D:-no weight
@00 ey

Correct Answer:- Option-C

Question45:-Which of the following statement is correct?
@IOLOQYM (@JTYIQUMNBEI@B @6 (@17

A:-X-rays have higher frequency than radio waves
X-ray @ coauleo mee.neBnesendud 9@aBm @ryoomilaeng

B:-Visible light has higher energy than ultraviolet rays
BUBYJEHIBOTIM @RUISINIWAIF EUElHESHIUE HWABM DVALEYENE

C:-Microwaves have shorter wavelength than infrared rays
ODEICQIQYHUBL EDMBEOIOOW BUIIBESHIUB M@UOSBB Al EOI0E

D:-Entire electromagnetic spectrum has same energy but different
wavelengths
QgQIm @@(HG%@@:O(T(D']& OAYROTIMo BEO DVALEWo DEE, af)MIT AUDITY M NEE BB LIGTRSENTE

Correct Answer:- Option-A

Question46:-The Reusable Launch Vehicle (RLV LEX-03) landing experiment was
conducted by ISRO on June 23, 2024 by releasing the vehicle at what altitude?
aJM@alcouTlanoqiam eaneal ealadlesld (RLV LEX-03) enmadlewy aidlesem. ISRO 2024 mem 23-
M QI9aNMo aR® OWEOIGD ()ﬂg@_r%?

A:-14.5 km
14.5 s).4

B:-41.5 km
41.5 s).d

C:-4.5 km
4.5 8.4

D:-1.45 km
1.45 s).d

Correct Answer:- Option-C

Question47:-The temperature at which a real gas obeys ideal gas laws over a wide
range of pressure is

BT QLNIBMAO QU@ QllUILINIY ABGOMIT GRMPEWIWINIW AUIME MIWAEERUY @RIMVEIEBIM
®0alleIoem

A:-Critical Pressure
BISIEBD (JaHd



B:-Boyle Temperature
GNINWI@ ™oalmlel

C:-Inversion Temperature
Qlla@l® ®oalmlal

D:-Reduced Temperature
SO MIalmlel

Correct Answer:- Option-B

Question48:-Complexes of which of the following metals are used in the treatment
of rheumatoid arthritis?

Q2EQIWNW @RREEE@FIM al&loTEE ®IOLAOM aB®Y CRI0ANERES cdaaoo%;%da:gosnf
9aleIUIlERmM@?

A:-Gold
aVIAB6MNo

B:-Ruthenium
QLMo

C:-lron
so@my

D:-Copper

[QX-1(qp]]
Correct Answer:- Option-A

Question49:-Which is the element present in the biomolecule carbonic anhydrase?
mc@ocmog’l@:@u& H0BeNI06ME @RYMBEOOCALMIIES @RSEEIQIGEERM goldho al@osm?

A:-Fe
Fe

B:-Zn
Zn

C:-Co
Co

D:-Mn
Mn

Correct Answer:- Option-B

Question50:-Who is the present Solicitor General of India in 20247
2024-621 pmmy@es oeajoeaom eruoglmilod mmomd @rooem?

A:-Indira Jaisingh
sElo Lmiles’

B:-R. Venkataramani
@OA@. eQIsIsea6I

C:-Tushar Mehta

©aHUIB OO

D:-Chanderkishan Daphtary

2IBABIUB Bagodl

Correct Answer:- Option-C



Question51:-A fruit seller is selling apple at the rate Rs. 240 per kilogram, with a
profit of 60%. What is the actual cost of one kilogram of apple?

B alPEN 5|AUSENIM @Raflud ssleaalm 240 @ mlessiad allg' 60% eoe. emgm. 8@ @leaw)Ie
@afglden @nodma aflel ag@wosm?

A:-144
144

B:-150
150

C:-160
160

D:-180
180

Correct Answer:- Option-B

Question52:-A person who sells milk used to add water, and he is now having 60
litres of milk with 15% of water. How much milk to be added to make the water
content to 10% in the new mixture?

al0@d Q@R B8EIUB HAUSS. 2RO, eEajud @PWIBE 60 elod aejp 15% eaigsq). oere.
ool dwoovled Leiooldeo aosal 10% @M ag@ ald@d GaldEmemo?

A:-15 litres
15 ellgad

B:-20 litres
20 eflod

C:-25 litres
25 aflod

D:-30 litres
30 eflgad

Correct Answer:- Option-D

Question53:-A particular work can be completed by 10 men or 15 women, in 24
days. In how many days the same work can be completed by a team of 4 men and
9 women?

8@ @Oy emoell 10 ajmaumodesd 15 myjleudesno 24 dlamvosingglod ojdoolwoeeom e¥lge.. 4
aJ@eHU@OTo 9 mlego @oseam 6@ Slalm @rem emoeil ag@ Glaimve e@:6me oJBOTOEHOMOBs0 !

A:-24
24
B:-30
30
C:-36
36
D:-None of these
@@(momam%;

Correct Answer:- Option-A

Question54:-The third term and the tenth term of an arithmetic progression are 11
and 60 respectively. What is its 13th term?
BT VMO oJCEINTIWYES FIMILODTDQo AlTMIAOODQo. alBo WG 11 9. 60 oo @M. @r@IMBe0



13-:90 alBo ag)moem?

A:-74
74

B:-77
77

C:-81
81

D:-84
84

Correct Answer:- Option-C

Question55:-Mr. Amal Joseph took a loan of Rs. 4.25 lakhs for two years with simple
interest at the rate of 6.7% per annum. The total amount of interest that he has to
pay at the end of two years is 68% of his monthly salary. What is his monthly
salary?

U3, @RAM GRIMVal (@B 6.7 % MleE@ cIglmnow alellte Madlm. BN QIBHeomE 4.25
BldHo (Bl GRI6M afIED. EMNZAUBHOBIOMOZAIBE EPWIU BRSERENTE HERITM. alfltd @PWIseS
@200V mIsoBIlde0 68% @REM. GRAIMSO MITV VBMIS. af)@WIEM?

A:-Rs. 83,750
83,750 @«

B:-Rs. 92,500
92,500 @

C:-Rs. 86,500
86,500 @«

D:-Rs. 91,650
91,650 @

Correct Answer:- Option-A

Question56:-In a certain code FRIEND is written as ETHGMF. Which of the following
stands for LOVER in the same code?

a8 dlvailo esowled FRIEND ogane ETHGMF agam’ aggoloicdlesme. @oeeajo@maiiad agmoermy
@re® eowled LOVER agan@ilem myallaflesmma?

A:-NPXFT
NPXFT

B:-KPUFQ
KPUFQ

C:-KMUCQ
KMUCQ

D:-KQUGQ
KQUGQ
Correct Answer:- Option-D
Question57:-Find the next number in the sequence 0, 4, 18, 48, 100 ?

cURMIWIOL! @RSO M6} GHEEMNIRIDE,

0, 4, 18, 48,1007



A:-148
148

B:-180
180

C:-184
184

D:-170
170

Correct Answer:- Option-B

Question58:-Geethu was asked how many books she had in her bag. She replied
that there were all fictions but six, all general knowledge books but three and all
novels but five. How many books had she in all?

Ualmeo euled af@ ofTYBERE6EMBMY 6aldEly). alleHE:Ee88/00 @ROOERASIEMO. HaloDADEmIM
o TNBEBBUY POANERASENEMO0 af)3J0 EMIUSIBSBo GREERGRAIEEMNMMVo @IS AQaIS] M. @RAIUBES
@O )@ ojTNB:6B3U3 eNRIlmmo?

A:-14
14
B:-11
11
C:-7
7
D:-None of these
@e)(momam%;

Correct Answer:- Option-C

Question59:-How many days will be there from the Republic Day of 2016 to the
Independence Day of 2016 (including both days)?

2016 eai dlqepflss’ dlme go@ 2016 ea1 Moy dlme aee (e daiTueasg. 2WewSs) @
AlIEERUE ©6EMRIG:0 !

A:-202
202

B:-203
203

C:-204
204

D:-201
201

Correct Answer:- Option-B

Question60:-In a family of five members, P is the sister of Q whose father is S. If the
wife of S is T whose only son R has two sisters, then identify how is Q related to T?
@6 @RNBRSES BT HFoNIOIT, P agom@ Q @es aqueanosa@lwoem, @paimes olomoalS. S meo
@ory T @oeem®I@d, afd adMI® R 0 @t queanicalaomens, ag@lad T ool Q agemem
ENITWEISIBIEBM af)aTy @@l 2I0lQd:.



A:-Mother

@02

B:-Sister
MEaNIBE!

C:-Son

DHD

D:-Daughter

DHUB
Correct Answer:- Option-D
Question61:-A place where animals are butchered is called
A:-arena
B:-abattoir
C:-menagerie
D:-tannery
Correct Answer:- Option-B
Question62:-When | arrived at the office, the meeting
A:-began
B:-begin
C:-had begun
D:-will begin
Correct Answer:- Option-C
Question63:-Which of the following is correctly spelt?
A:-laison
B:-layson
C:-liaison
D:-leison
Correct Answer:- Option-C
Question64:- everyday improves my stamina.
A:-running
B:-to run
C:-being run
D:-having run
Correct Answer:- Option-A
Question65:-They used to live in New York, ?
A:-aren't they?
B:-don't they?
C:-weren't they?



D:-didn't they?
Correct Answer:- Option-D
Question66:-What is the passive form of : Obey your parents
A:-Let your parents be obeyed
B:-Parents must be obeyed.
C:-Your parents ought to be obeyed.
D:-Parents of yours should be obeyed.
Correct Answer:- Option-A
Question67:-He always his homework before going to be
A:-puts off
B:-puts up
C:-put out
D:-put away
Correct Answer:- Option-A

Question68:-When | was younger, | was a swimmer than
school.

A:-good

B:-best

C:-better

D:-more good

Correct Answer:- Option-C

Question69:-Even though Tina was angry, she decided to
anything hurtful.

A:-break a leg

B:-jump the gun

C:-keep your chin up

D:-bite your tongue

Correct Answer:- Option-D
Question70:-The plural form of the work 'cactus' is

A:-cactuses

B:-cactus

C:-cacti

D:-cactu

Correct Answer:- Option-C
Question71:-moevemogomldlesmaiad alaidlmodma. oo el ag@?

A:-opmpe X (W0

d.

anyone in my

and not say



B:-o@aip X @ooel

Ci-@oydso X @O0

D:-@raime. X @rmairu.

Correct Answer:- Option-C
Question72:-moevesmogomildlesmalad ' ruanal' Be0 alep®@alGe ai®?

A:-allemd

B:-alall@m

C:-aueym

D:-eapaclod

Correct Answer:- Option-D
Question73:-'moaeaepm' munomuead?

A:-enieo@flac

B:-ailw

C:-o3mwoewmd

D:-aimsicraomue

Correct Answer:- Option-A
QueSti0n74Z-@06)&9cHO®g(TT)O.mﬂ(68 GRIDAITVMNWIE ©BIaN®EMo

A:-olemad

B:-allerzel

C:-olwog

D:-@maqdmg“

Correct Answer:- Option-D
Question75:-'wemaidies :0less' agm eewvealges @A®N.

A:-arye.class

B:-@raimuodiaflese

C:-epmossss

D:-spaiewomongy

Correct Answer:- Option-A
Question76:-'@raim' agim alGe aldlesig®@s

A:-@oal + i

B:-@no + aimd

C:-@oa + @oad

D:-@no + @omd

Correct Answer:- Option-D

Question77:-moevemmogomldlesmaaiad @oall.t) enieoalal@Bm ©EIa0®EMo



A:-dlgead
B:-mmyoldlaod
C:-nees03
D:-saie@omoag)
Correct Answer:- Option-A
Question78:- 696 @&r5omil@lesmaIed MajoTu@Eln@DIM ©Ba0@6Mo
A:-agaid
B:-agaid
C:-aguud
D:-agoy
Correct Answer:- Option-D
Question79:-me¢ 6©805001ElesmMAURIG ' @eMILRIBM.' OTIMOO WVAEIWIW © 5/0@6Mo
A:-@omoad a106Mo
B:-@rmosjorme
C:-@pmognwme
D:-@omogpneme
Correct Answer:- Option-B
Question80:-moey eB:050m1@lEBMAIGS ' GREUMAN CBIMBOO MVAIMalGo aR® ?
A:-200)08:05900 @¢Flgan
B:-o8q) 62190m &¢laym
C:- el o omenmejoom
D:-spaie@omoag)

Correct Answer:- Option-C



Question81:-Which of the undermentioned statement is wrong with regard to the
jurisdiction of Excise inspector under Abkari Act?

i. Excise Inspector appointed at Excise checkpost has jurisdiction through out the
range in which the check post is situated.

ii. The Excise Inspector appointed at Excise Circle Office has jurisdiction through
out the taluk in which the Circle Office is situated.

iii. The Excise Inspector of Excise Enforcement and Anti Narcotic Special Squad is
having jurisdiction through out the revenue district in which the office situated.

@RNIBIE] @RI HIFlRI8S 0f)eeOGITV DMOMHQRS @PUB:0AIClIWIQRAR] MIMLES @69 Myallallyl
@MOAMHEIBE af@06TTY a(mg’?
i )OOV ©al85Ea 0l WalEreals afeOEGIY EDMBETVHBLE) 6 alds)
ealomy qudlll ©aiyan adlwlalgismige. @owleoaldlwlgeng
i, ageegGM M Boadmilad Mlodleen]s «geegm mdemyedas
MBS B30adlmy” mudlell &1 @ogEslajsaige @oWle:0aIBlwlgerE
i, apeOGMY agBeanodmieamclmBen ageemy MemEed @rBd]
MIBEEHOZ|B OTYauy@d MRIoUSIM’ B30adlny” crudl@sl & .aigyam OQIMy
dlej@esmig. @rUwWle:0ealclwlgen:

A:-i only
i 20@o

B:-i, ii and iii
i, ii, il 0o@eo

C:-ii and iii only
i, il 20@o

D:-None of the above
QHEIO AIOTHAUOQOMoRL)

Correct Answer:- Option-A

Question82:-Land holders and others has to give information in connection with any
manufacture of liquor or intoxicating drugs, not licensed under the act to -

i. Magistrate

ii. Abkari Officer

iii. Officer of Land Revenue

iv. Narcotic Control Bureau

G2l 6B Ql4llElEsMAIT3. 2OSBOITBo OV @R (@HOBe HSRITLABMY DEOTI, BBl GROLIEITE lanE]
2@y’ MldaoemQ@o@l cITWeals allaieeERud M@H6eMo.
I alemyg
ii. @RMIB;IE BIadlavud
iii. e’ oaimy gespnmuod
IV. ModemISes H6mesoud 6NIEOD
A:-Only i and iv
i, IV ao@eo
B:-Only i and ii
i, il 20@eo

C:-All the above
QST A lOCITIMAUBHDEI00

D:-Only i, ii and iii



i, ii, iii @0@o
Correct Answer:- Option-D

Question83:-The quantum of fine that can be imposed by the excise inspector to an
offender who has committed an offence of smoking in public place under the COTPA
Act shall not exceed -

i. Rs.100
ii. Rs.200
iii. Rs. 400
iv. Rs.500
COTPA d@an@oe ©ald@muneion ojeqielasam aos BQAIEIES) af)OOEM DMOMVHB 4AC®IYAM
alle @3 5Oll@om alosley
i. 100 @a
ii. 200 @
iii. 400 @
iv. 500 @«
A:-(i) and (ii) only
(i), (i) 20@o

B:-All the above

QHEITB O AUOWEYIo

C:-i only
i 20@o

D:-ii only
il 20@o

Correct Answer:- Option-D

Question84:-The immediate official superior of Excise Inspector in the Hierarchical
row prevailing in Excise Department is -

i. Circle Inspector of Excise

ii. Manager of Excise Division Office

iii. Superintendent of EHQ

iv. Administrative officer of EHQ

oo Wlajodgeanddled dleinla)ss 6©6a00d&lemad Mlealenl afee@Gm HMeTVHQROS GRFOT)
BDERPUIE: ERRJERPUMLAM -

I afeegm mudEslud samdemydd

i, ageegM alalleund soadlmy’ aoemesd

iil. EHQ ayaene

iv. EHQ-me0 @raldlemydlal @oadlaud

A:-iv only
iV 20@o
B:-i, ii and iii

i, ii, iii

C:-ii and iv only
i, IV 20@o

D:-All the above
QST AlOCITIHAUBDE[00



Correct Answer:- Option-B

Question85:-Which of the following statements are true in the case of Abkari
Inspectors under Abkari Act?

i. Abkari Inspector means an officer appointed under 4(d) of Abkari Act.

ii. The Excise Inspector appointed in the Range offices shall have all the powers of
Abkari Inspector as per Abkari Act.

iii. All the officers in the Excise Department of and above the rank of Excise
Inspectors were vested with the powers of Abkari Inspector.

@RENIGHIE] @R (B0 @RENIEHIG] HMHTVHBAIWES HHOBKOTIM MIOYA|OQAN ITYIIMEGHE|E3
aB®6 @7
I @REIG:E] DBOMYGA af)MO3 @RMIB:0E @REIMBe0 4(d) @00
Tlodlenens 9EEHRUTVNM af)MIET) GRAEMOAILBAN@).
i, eoal 80adlmyegl®d Mlaleeanismm ageegm) memuades
@DENIB:IA] @O (@I @OENIBIA] METVRQOS af)ald @OWIH:0O6EBE.
96M0@lsso0.
iii. apeegMY alajodsenmdlen ageegmy memuad coslm gedejes
af)gfd DEBHRMIMVNBLR BRENIBGIAE] DMWOHATVGHQES GRWIEHIG MMBH.

A:-i and ii only
i, il 20@o

B:-All the above
QHEIM AIOTIAUOWQEIo

C:-ii and iii only

i, iii 20@o

D:-None of the above
QHETd A lOITMAUSHQITORL]

Correct Answer:- Option-B

Question86:-"Abkari Inspectors were appointed by exercising the powers under
section 4(d) of Abkari Act and they can perform the acts and duties entrusted by
the Abkari Act". Which of the undermentioned sections corresponds to the duties
and powers described in Section 4(d)?

" @eni®:00@ @RBISlenl HTLEHUMB 4 (W) EHIEYSs BRWIEHIPERUE OaIGWIUI 406 @RENIB:0A
meayedaee Twlwdlyo. rAdHs) @oMIB:06 @R CeEa]l4lSSS AUBTMEEES. sA®aIB:So
wldaaGlenom &YlQo” eamajosmm alconangld agmosm emuesm 4(wl) @@ aludlesm samelsudas.
@RUHIEERUIER. @PIECWIERMN@ !

A:-Section 40 to 52
emuexrm 40 good 52 aee

B:-Section 40 to 53 (both inclusive)
oauesm 40 go@d 53 aeo (g Oudeqes)

C:-Section 40 to 53 (both exclusive)
emuenad 40 good 53 aee (eemgo og)@”%mﬂm“)

D:-None of the above
QHEIT O AUOQOMORL]

Correct Answer:- Option-B

Question87:-The Powers of Excise Inspectors extends to perform all the duties in
respect of issue of special permits under section 11 of Abkari Act. Here section 11



deals with -

@RNIB:06] @R&leal OMUEHM® 11 (Je:0re Jemd: omcﬁm’lgcﬁ)(ﬂ& M@HMDA0Q] NITWeAS af)g)o
2J2@elBge MRAClERMTIM’ aee IV MeMYEG@RIMmes @PWlE:006Bu8 allajelle:dlesme. oales
omeum 11 eed:d0p e -

A:-Import Permit
DOERA0 Sal@alg

B:-Transport permit
©0MdETVIAY Oald@aly)

C:-Transit permit
SoMMIlg’ ©aldaily

D:-None of the above
QHEIT O AUOQOMORL]

Correct Answer:- Option-B

Question88:-Transport under Abkari Act means and includes -
@RENIB:0@] MRATBIM HIFIBIB8 NDIN@o afMMITD

A:-To move from one place to another within the state
MVeNIMEIMRESI®d B@ElsE MlaT 26QI@ISETm S A0

B:-To move from one place in a state to another place in that state or to any
other state through the territory of the state of Kerala
SBT3 TVEMNIMOTMIOL! BAISOEB MM @) TVEMMNIMET AOQIT (MUNAIGOTELHI GRELIEITE CHOS
MVEMINIMOIMBEO (@IEBLABTIIOS ACYEMEIRJe MVTUNIMBOMEELNI AIOID

C:-To bring into the State

MVL(MUAIMEDES) EYDHIENMBAUGIND

D:-None of the above
QHEIM O AUOQOMORL]

Correct Answer:- Option-A

Question89:-Which section of the Abkari Act authorizes officers to inspect licensed
premises?

EERITUMIYSS TVORIERUE alGlEUBIWEHIM @RMNIG:IG MWATTIeAl aB@ Qldin] OEEPWMINOE
@RUB:0060|STDMD?

A:-40
40

B:-31
31

C:-32
32

D:-35
35

Correct Answer:- Option-C

Question90:-Which officer of the Excise Department duly appointed to control
Brewery?
@_ng'1 Tl afeeEM QAldalenl ag® 9eaPWmINeM m’]@'l_gd?

A:-Circle Inspector of Excise



af)OOGIV MBS DMOHTYH@
B:-Surveying Officer

mAeaIlot) 839adlrud

C:-Distillery Officer

awllaic] eoadlarud

D:-Assistant Excise Commissioner
@RMIIMRMO af)eOEMY dadilauernd

Correct Answer:- Option-B

Question91:-Following officers who are authorized to inspect the Wineries?
06QMAlBU3 al@leLIWlEnIM BPWIH:I0RBE MIOLaOQIMM BoadlruBRBd @REoET?

A:-All officers of the Excise Department
)OOV Qldalleal afejd DEEHPUMLNT.

B:-All officers of the Excise Department of and above the rank of Excise
Inspectors
af)OOGTY DMETVGHAROBES 0oElaj. @RI PYHEIRIRSS AfEEGITV Qldna]eal afejd OERPRULMVNT.

C:-All officers of the Central Excise
OTVMBS@ af)OOGMIIOAI af)ald HEEPUTVNM.

D:-All officers of the Police Department of and above the rank of Sub
Inspectors
casoellmy’ allajodgeamdlenl aueni’ me Mm@ 0oEBIM PHElaISs afald OEERUMIVNM.

Correct Answer:- Option-B

Question92:-Which of the following statements is correct about Abkari Officer?
@RENB:06@] BoadlNEO TVLENIMW]4f MIOLAOQYM (JMYIAUMBEI®B a@@I6T o@I?

A:-The Commissioner of Excise or any officer or other person lawfully
appointed or invested with powers under Sections 4 or 5 of the Abkari Act 1 of 1077
)OO HadlausmA@ @PeRIEIE agemElal DesonMNm @regiElad 1077 ol @rmis:od erg 1 ool
eMUeHM 4 GRELIBIME D (@J®:I0 MR Mlaleteqs @ReLIEI @RUWIE:0EMBIM3 mlestalsilges
GOS0 QKB

B:-An officer appointed under Section 5 A of the Abkari Act 1 of 1077
1077 eeai @oenis:od @oe 1 ea1 &muesm Saf) 6000 Dlodleneans 8m 9eapmmNd

C:-The Officer appointed by the Government under Section 3(4) of the Abkari
Act 1 of 1077

1077 eei @oenie:0d @oe 1 o1 emuesd 3(4) @900 TBEHIR My 69adlarud

D:-None of the above
QHEIT O AUOQOMORL]

Correct Answer:- Option-A

Question93:-Under which section of the Abkari Act, Abkari Inspector may summon
persons suspected of offenses against Abkari Laws?

@RENIGIE] MACTIMOO oB® Qlda] @HORET), GRENIGIG MWAGBRUBHERDIEIQ EBQBHDEERU ag)aTy
MeUWIEBM QUBDIBE8 @RMIB:06! MBeMYEAs Qllglaflenoe?

A:-50
50

B:-46



Correct Answer:- Option-D

Question94:-Who among the following is not an Abkari Officer?
®I6Pa|OQMAIRIG @REIM @RMIB:0E! B3adlud @R ?

A:-Sub Inspector of Police
aueni’ OMeTYH@ 630a0 Gatoaflmy’

B:-Drug Inspector
QU OMETYLHA

C:-Excise Inspector
af)OOGMY DMBOAVNHA

D:-Deputy Collector of the Revenue Department
oQImy QldalBe0 a(wmgg'l HSEH®D

Correct Answer:- Option-B

Question95:-Who is designated as the Head of the District Unit of Excise
Intelligence and Investigation Bureau?

af)OOGTY endoallmmay’ @rdau’ eoadeaImlewaud ENIYBOIQYOS =layo Qemidladen mealinimowl]
mleorleneals® @REIEM?

A:-Excise Inspector
af)OeOGM DMBOAYHA

B:-Assistant Excise Commissioner
@RMIITRMO af)OOEM dadilauernd

C:-Intelligence Officer
spadoellemmdmy’ 8dadlorud

D:-Deputy Excise Commissioner
6)('\.1)0Jé§'] af)OOEMY HHadlauerN@

Correct Answer:- Option-A

Question96:-Which of the following statements correctly describes the Excise
Enforcement and Anti Narcotic Special Squad?

i. Detect and take legal action against the collection, marketing, trafficking and
consumption of illegal liquor/drugs in the district.

ii. Investigate NDPS cases and take further action.

iii. The Deputy Commissioner of Excise serves as the Head of the office of Excise
Enforcement and Anti Narcotic Special Squad.

iv. Register the detected Abkari cases in the concerned Range Offices.

af)OOGTY af)BEANIFTIBAMAlHMQ0 @RABA] MIBEEHZE: HTVAUE TVIOAUIEMQe SR allaidlenmm
@MYIAUMBUB a@@o6T?
i =Hlojofl@d @eMWle® 0B/ D EBAGN EGUAIEEM., QllaleMMo, SO, DalGRIN.
ag)amlal Heemom Mleamsals] auile:elesd:
i, agadilallagV’ eorysud @REMIH 5] @SBMSaIS] rulle:@lesd:
. agee@GM OWals] &aflauemad 0)EeGGMY afBeanddTieamQe @M



MOBEHIZIE HAVHU@ MIOWIMBE0 @aINIMI] (Jadomlesamo
IV. 0ol @oeIB:06! eBaY®:ud MIMWeas eoe 8oadlmyegled elqnd
©2IQYd>.

A:-All of the above

QHEIO AOTIHAUOWQEIo

B:-i and ii
i, ii

C:-i,iiand iv
i, ii, iv

D:-ii, iii and iv
i, iii, iv

Correct Answer:- Option-C

Question97:-Which section of the NDPS Act exempts addicts who volunteer for
treatment from prosecution?

NDPS dloacwiesl agm’ aigajosm alalorngoo] aueaw@o mumeneo@ @oausemie:es
c@omﬂméosmﬂ(o% alar’ sFlaasam?

A:-64 A
64 o)

B:-30
30

C:-27
27

D:-64
64

Correct Answer:- Option-A

Question98:-The name of the Anti-drug awareness drive of Kerala State Lahari
Varjana Mission formed in 2016.

2016-@ @RBalo:@ly] eS8 MUrNIM LIa0@! AIBERM HlaUMOO Lla0G@INNMEL CENIOWAQIME:6M
QLEHOHIMWBOO Gal@.

A:-Kaval

HOQUDTD

B:-Karuthal
HHTBOYTD

C:-Kavacham
DHQlalo

D:-Vimukthi

allgem
Correct Answer:- Option-D

Question99:-Whoever knowingly or intentionally conceals, destroys or alters or
intentionally or knowingly causes another to conceal, destroy or alter any computer
source code used for a computer, computer programme, computer system or
computer network, when the computer source code is required to be kept or
maintained by law for the time being in force, shall be punishable with
imprisonment up to -



oeam.légdi GO’ BBOY @RUUEMIWS QIBBEMIOUE, @RAIESITO AM:ind@Qlo A0.OAUEBBEWI MUBlflERdeWI
DOQHEWI mqutﬁcycmo GENIOWAJBQUCRD BEQI@IUBL oe:(m%gé}, tﬁ:m.lég(a GO0, cB:(T)Jég(a e @R E:lod
oeg(m%g@ oMY ABLS af)MINQIW] DalcIUTleBmM ago@®slale oengégca GIVLIE’ GHIW AOQYEHEWI
MWBlaflensewo 20QHEW 6)21Q)M0. @@L (JONIRIOMIRISS MR MYBHERE:EWI
al@laloallEes s eI 6.21QIm3 QOO ®SQUIEH LIElERo.

A:-one year, with fine which may extend up to one lakh rupees, or with both.
B QBato, BT RlGHo Bal UOE AllPEWI Mo E:SIEWO

B:-two years, with fine which may extend up to one lakh rupees, or with both.
@6Ng QAUBaHo, B@ AlBHo Bal AUEOE alloeO P6NZo @:SIeW?

C:-three years or with fine which may extend up to two lakh rupees, or with
both.

Qan’ Qo @RELEITE @6ME AldHe (@al AIBE MISIEEIQYM alle @RELIEIG @6Mgo &S|

D:-four years, with fine which may extend up to two lakh rupees, or with both.
moel ABaHo EEME BldHe (@Bl QUOP allPEWI P6NZo &:SIEI

Correct Answer:- Option-C

Question100:-What is the punishment for dishonestly receiving stolen computer
resource or communication device?

G20l cﬁ:(T)Jég(a olemuog” @regElod @RUeAlMa Saldeeme TV@ITLAWAIW] MV]le:dleamMailiess
WBBY af)6M?

A:-Imprisonment of for a term which may extend to three years or with fine
which may extend to rupees one lakh or with both.
g’ QIBato QUG MINFMIGERAN SCOUD BM LldHo (Bl AUBE eI @PELIBIT B6Nge &SIeWO

B:-Imprisonment of either description for a term which may extend to two
years or with fine which may extend to rupees one lakh or with both.
@M QIBaHo AU MISIEEIQM B BGoelsaleal QlaIEEMETIMEO MSEAID BT LldHe (Bal QAUO®D
alleco @ReL)EI8 @MZe &Slewo

C:-Imprisonment of either description for a term which may extend to one year
or with fine which may extend to rupees two lakh or with both.
BAGIT BT QldaHe QIeE MlEFMIGEBRM 8@ AlaieEMOEBTIMEO MSENI) CPRELIEIE @6ME AldHe (@Gal QAUIO®
alleco @reL)EI8 @M. &Slewo

D:-Imprisonment of either description for a term which may extend to six
months or with fine which may extend to rupees one lakh or with both.
@0 MIMVo QB MISIEREHINYMM BT HIRIVSOIERIERESs QlIEEMOBIMEHO MSEAD BT LldHo (Bl QUOO
alleco @ReL)EI8 @Mge &Slewo

Correct Answer:- Option-A



